
STANDARD 
FUNCTIONAL FORM

Nested CES 
for electricity
generated from: 

i. fossil fuels or 

ii. renewables

Initial position
Fossil fuel = 90%
Renewables =10%
(known)

Initial position
Equally profitable
(assumed)



STANDARD 
FUNCTIONAL FORM

Nested CES 
for electricity
generated from: 

i. fossil fuels or 

ii. renewables

Potential future
Fossil fuel = 50%
Renewables = 50%

Potential future
Renewable three
times more profitable



NEW
FUNCTIONAL FORM

Logistic function
for electricity
generated from: 

i. fossil fuels or 

ii. renewables

(any sigmoid
function could be 
fitted)

Initial position
Fossil fuel = 90%
Renewables = 10%
(known)

Initial position
Fossil fuels
more profitable



NEW
FUNCTIONAL FORM

Logistic function
for electricity
generated from: 

i. fossil fuels or 

ii. renewables

(any sigmoid
function could be 
fitted)

Potential future 1
Fossil fuel = 50%
Renewables = 50%

Potential future 1
Both equally
profitable



NEW
FUNCTIONAL FORM

Logistic function
for electricity
generated from: 

i. fossil fuels or 

ii. renewables

(any sigmoid
function could be 
fitted)

Potential future 2
Fossil fuel = 10%
Renewables = 90%

Potential future 2
Renewables more 
profitable


